Probability: Sums of Random Variables
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When using the normal distribution, choose the nearest z-value to find the
probability, or if the probability is given, choose the nearest z-value. No

interpolation should be used.
Example: If the given z-value is 0.759, and you need to find Pr(Z < 0.759) from

the normal distribution table, then choose the probability for z-value = 0.76: Pr(Z
<(.76) = 0.7764.

When using the normal approximation to a discrete distribution, use the
continuity correction.
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The average height of adult Americans is 176 cm, with a standard de-
viation of 6 cm, for males, and 163 em, with a standard deviation of 5
ci, for females. It heights of each group are normally distributed. what
Is the probability that a randomly selected American male 1s taller than

a randomly selected American female? (
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Suppose that X and Y are jointly normal random variables, with EX =
. r r | Ve { _f_r‘) - * . ' e )
I, VarX =4, and EY = -2 F (} ") = 5. If the correlation of X and

Y is —1/2, what is the probability that the sum of X and Y is positive?
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[t T flip a fair coin 100 times, what is the approximate probability that

[ will get at least 45 heads? X 2 ST £y 0 head)
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[t T flip a fair coin 100 times, what is the approximate probability that

[ will get at least 45 heads? = ~ SO
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B. At least 0.80. but less than (.82

C'. At least 0.82. but less than (.84

D. At least 0.84. but less than 0.86
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